Run 4371 quartetwise, Asyms0 (Raw): All
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Run 4371 quartetwise, NegHelAccO/NSamples0: All

quartetwize_negHQ
— _ Entries 42875
— Mean 1.539
— Std Dev 1.33
- 1 J 11 | 1 1 1 | 1 1 1 1 1 | 1 L —H—'--.J_ 1 1
2 4 6 B 10
MNegHelAccD/NegHelNSampleso
Run 4371 quartetwise, NegHelAccO/NSamples0: Beam ON, Laser ON
guamstwisa baami las® nagHD
- _ Entries 1138
— Mean 9.574
— Std Dev 0.2345
N L1 | | el ! L
B.8 9.6 0.8 10 10.2 10.4

MNegHelAccl/NegHelNSamplesd

1600

1400

1200

1000

800

600

400

200

Run 4371 quartetwise, NegHelAcc0/NSamples0: Beam OFF

_ guarebwise_bsamd negkll
— Entries 41737
[ Mean 1.32
[ Std Dev  0.0BBO1
_I 1 1. 1 | L 1 1 1 | 1 1 1 1 | 1 1 1 1 | L 1 1 1 | L 1 [ 1 1 1 | 1 1 1

R 1.1 1.2 1.3 1.4 1.5 1.6 1.7

MNegHelAccO/NegHelNSamplesO

Run 4371 quartetwise, NegHslAccl/NSamples0: Beam ON, Laser OFF

ﬂ.im.“““ﬂ kaami lasl HIIEH[I
Entries 0
Mean 0
Std Dev 0




20000

18000

16000

14000

12000

10000

BO0OO

6000

4000

2000

35

30

25

20

15

10

Run 4371 quartetwise, PosHelAccO/NSamplesC: All

guartetwise posHO

Entries 42875
Mean 1.837
Std Dev 1.318

1 | 1 .I_.—l—|—|—.J. 1

B 10
PosHelAccO/PosHelNSamplesD

Run 4371 quartetwise, PosHelAccO/NSamples0d: Beam ON, Laser ON

!

gurarnstwiss haami las! posHG
Entries 1138
Mean 9.4949
Std Dev 0.2358

K.

|
9.8 10 10.2
PosHelAccO/PosHelNSamplasD

Run 4371 quartetwise, PosHelAccO/NSamples0: Beam OFF

guarelwise_bsarnl pashd

1600

1400

1200

1000

800

600

400

200

—|II|III|III|III|III|III|III|III|III

Entries 41737
Mean 1.319
Std Dev  0.08733

=
ey

I
1 1.1

1.2

1.3

1.4

1.5 1.6 1.7
PosHelAccO/PosHelNSamplesD

Run 4371 quartetwise, PosHelAccO/NSamplest: Beam ON, Laser OFF

quamstwiza baomi lnsl poskHs
Entries 0
Mean 0
Std Dev 0




18000

16000

14000

12000

10000

BOOO

6000

4000

2000

35

30

25

20

15

10

Run 4371 quartetwise, Sums0: All

quartetwize_summbD
— - Entries 42875
_— Mean 3.075
- Std Dev 2 648
11 JI 111 | 1 1 1 | 1 1 1 | 1 1 1 | 1 1 1 I 1 1 1 | 1 1 1 | 1 1 1 I_i-"l—ll-.J. 1 1
2 4 B B 10 12 14 16 18 20

PosHelAccO/PosHelNSamples? + NegHelAccl/NegHelNSampleso

Run 4371 quartetwise, Sums0: Beam ON, Laser ON

gimamshwisa baami las! sumimid
Entries 1138
I Mean 19.07
Std Dev 0.3572

||||||||||||||||_|F||

Y

18.5 19 19.5 20
PosHelAccO/PosHelNSamples? + NegHelAccl/NegHelNSamplesO

1800

1600

1400

1200

1000

800

600

400

200

Run 4371 quartetwise, Sums0: Beam OFF

quartebwise beaml surmmd
— Entries 41737
— Mean 2.639
[ Std Dev 0.1699
_I 1 1 | 1 1 1 1 I 1 1 1 | 1 1 1 I 1 1 1 | 1 | 1 1 1 I | -
2 2.2 2.4 2.6 2.8 3 3.2 34

PosHelAccO/PosHelNSamples? + NegHelAccl/NegHelNSamples0

Run 4371 quartetwise, Sums(: Beam ON, Laser OFF

guamstwiza boami lasl summd

Entries
Mean
Std Dewv

0
0
0




